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  ةيدقعلا داد�
ٔ ا : 1 ن�ر تم

  ��ر�ن 

)�� ا����وى ا���دي ا��	�وب إ�� ��
م �����د ��	ظم  ), ,O u v
� �

ا��� أ���"!�  Cو  Bو  A). 	���ر ا�	�ط  2cm. (ا�و�دة 


� ا��وا�� :%  

2
A

z i= 3و  −
B

z i= − 3و  +
C

z i= +  

أ. أ&�ب  )1
A

z  و
B

z  و
C

z  ��'ا�(&ل ا �
% 

)ب.  ا��	�- �ر&ز و (��ع ا�دا*رة  )Γ  رة �ن�ا��A  وB  وC .  

Bأ. أ&�ب  )2 A

C A

z z

z z

−
−


� ا�(&ل ا�/�ري .م %
� ا�(&ل ا'��  % 

  ABCب. ا��	�- ط���1 ا��.
ث 

و زاو��A  4ا�ذي �ر&زه  ��r&ن  )3
3

π
 

3ھو  r���دوران  6Oورة ا�	�طO  1'��ق ا�	�طo  1'��ن أن   . أ i− − 

)�دد ا��/�و%1   . ب )E  ط�	و%1 ا��/�M  ق�
3z���ث :  zذات ا� z i= + + 

)�	����ن ل  Bو  A��ن أن   . ج )E  

  

  ا����6:

 أ.  )1

�2د�	� :  � 2
A

z i= − = 

)إذن  )2 2 cos sin 2 cos sin
2 2 2 2

A
z i i i

π π π π   − −        = − = − = +          
          

  

22و �	4 
i

A
z e

π− 
 
 =  

)�د�	� :  � ) ( )
2 2

3 3 1 2
B

z i= − + = − + = 

إذن       

3 1 5 5
2 2 cos sin 2 cos sin 2 cos sin

2 2 6 6 6 6 6 6
B

z i i i i
π π π π π ππ π

                  = − + = − + = − + − = +                  
                 

  

و �	4                        

5

62
i

B
z e

π 
 
 =
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)�د�	� :  � ) ( )
2 2

3 3 1 2
C

z i= + = + = 

إذن   
3 1

2 2 cos sin
2 2 6 6

C
z i i

π π      = + = +      
     

  

62و �	4       
i

C
z e

π 
 
 =

  
  

  

2) �د�	� :  ��1ب 	��/1 ا��ؤال   . ب
A B C

z z z= = = 

2OAإذن  OB OC= = =  


دا*رة  Cو  Bو  Aو �	4 � ���	�( )Γ  �ا��� �ر&زھ O  �!%��) 2وR =  

2(  

 أ.

�د�	�  : �
( ) ( )

( ) ( )
( )( )

( )( )
3 2 3 3 3 33 3

3 33 2 3 3 3 3

B A

C A

i i i iz z i

z z ii i i i

+ − − + − −− += = =
− − +− + − − − + − −

  

إذن :     

( )2
2

3 3 3 3 3 9 6 6 3 1 3 1 3

12 2 2 2 23 3

B A

C A

z z i i i
i i

z z

 − − − − + −  = = = − = + −  −    − +
  

�د�	� : �

22
1 3

1
2 2

B A

C A

z z

z z

 − − = + =  −    
 

إذن 
1 3

cos sin cos sin
2 2 3 3 3 3

B A

C A

z z
i i i

z z

π π π π − − −         = + − = − = +          −           
  

31و �	4  
i

B A

C A

z z
e

z z

π− 
 
 − =

−
  

�1Bد�	�   . ب A

C A

z z

z z

− =
−

1إذن  
AB

AC
ABو �	4  = AC= 

]و �د�	� :  ]arg 2
3

B A

C A

z z

z z

π π
 − ≡ − − 

)إذن   ) [ ], 2
3

AC AB
π π≡ −

���� ����

  

)��� أن :  ) [ ], 2
3

AB AC

AC AB
π π

=

 ≡ −

����   ����وي ا'<=ع �ABC>ن ا��.
ث  ����
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و زاو��A  4ا�ذي �ر&زه  ��r&ن  )3
3

π
 

)�د�	�   . أ ) 'r O O=  إذن( )3'
i

A A
o z e o z

π

− = − 

) إذن :    ) ( )( )1 3
' 2 0 2

2 2
o i i i

 
− − = + − − 

 
  

) إذن :    )1 3
' 2 2 3 2

2 2
o i i i i i

 
= + × − = − − 
 

  

'و ������� :  3o i− −  

  

  

)ا��/�و%1 �	�دد   . ب )E ط�	و%1 ا��/�M  ق�
3z���ث :  : zذات ا� z i= + +  

)�د�	� : )3 0 3z z i z z i= + + ⇔ − = − − −  

3إذن  0 'z z i z z o= + + ⇔ − = −  

OM'أي  O M=  1%4 ا��/�و	و �( )E  1�ھ� وا�ط ا��ط
 [ ]'OO  

  

   . ج

�2د�	�  �
A

z 3و  = 2 3 3 2
A

z i i i i+ + = − + + = − =   

3إذن 
A A

z z i= + )و ���   + )A E∈  

�2د�	�  �
B

z )و  = )3 3 3 2 2
B

z i i i i+ + = − + + + = =   

3إذن 
B B

z z i= + )و ���   + )B E∈ 


